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Solve each equation. Check your answers.
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16. m = 35=42 17, x +

1 18. 96 = 16y 19. 355 =105
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20. 165 =80 21. 30=x+45 22, k+5=29 23. 270 = 27x
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MATHEMATICAL
L Problemsolving _____((C EAHSIRES

24. Writing to Explain How can you 25. Afemale whale shark is 35 feet long. An
find the solution to the equation average 12-year-old is 5 feet tall. How
4x =207 many times longer is this fish than an

average 12-year-old? Solve the equation

26. Persevere Two teams of students 35=5x.

earned money by washing cars. Team 1
washed 19 cars at $4.25 each. Team 2

washed 17 cars for a total of $82.50.
Which team earned more money? By

how much? 5feet
F—— How many times?
e

27. Asupertaster can have about 4 times
more taste buds than a nontaster. If
a supertaster has 424 taste buds per
square centimeter, how many taste
buds might a nontaster have per square
centimeter? Use the equation 4t = 424.

28. Estimation About how muchis @ 29. Construct Arguments Is 280 the
the value of x in the equation solution of x + 4 = 702 Explain your
254 = 75x7 answer.
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30. Josh's class is planting a garden. Josh

divided seeds so that 20 students had
35 seeds each.

a How many seeds did Josh start with?
Use the equation y = 20 = 35.

b How many seeds would each student
get if there were 25 students to
divide the same number of seeds?

. Reason Which algebraic equation

best describes total weight (T) of four
baskets of strawberries, if w equals the
weight of one box of strawberries?
AT=4+w
B T-w-4

CT=4-w
D T=4w

@ 3.

® 33.

Think About the Structure What
is the first step in solving the equation
below?

x+30=8

A Add 30 to both sides.

B Subtract 30 from both sides.

C Multiply both sides by 30.

D Divide both sides by 30.

Reason Eric paid a library fine (f)

for returning a book 4 days late. If the
library charges $0.15 per day for late
returns, which equation best describes
his fine?

C 4+f=015

D 4-f=0.15

A fx4=015
B f:4=015




